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Candudatos are required 10 give thoir answors in thew own words as lar as praclicablo.
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This queston paper is divi 0 Mo sections - Seclion - A and Section - B
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In Section - A, thers are 35 objective type questions which aro compuisory, each carrying 1 mark.

Darken the circle with blug/black ball pen against the correet oplion on OMR Answer Sheel provided 10 you,
Do not use Whitener/Liquid/Blade/Nail efc. on OMR Sheel; otherwise the result will be invaiid.

TS - 7 4 18 FY Gadg w7 &1 (@@T 3 /Y 2 dw FuiRa 8 fry @ R 10 gt
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In Section - B, thote are 18 short answer typo questions (each carrying 2 marks), oul of which any 10

questions are lo ba-answered. Apart from Ihis, there aro 6 Long Answer Type questions (Each Canrying
5 marks), out of which any 3 questions are 1o be answered,
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Use of any elecironic apphances Is strictly prohibited.
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WS~/ SECTION - A

TR A%/ Objective Type Questions
TET W 1 ) 35 0w & wRdw 0vT & g g Qe Re e g fre @ o ad@ &I

FRT 4 me o) RE @ OMR - e T AT ol (35x1=35)
Question No. 1 to 3§ have four options, out of which only one is correct. You have 1o mark, your selected
option, on the OMR - Sheet. (35xd0=35)
Lo 3dn & g v @ ames @ @ -

W T/ fEd(Cm?) (") e /#ed (Nm)

(C) T /A (CV)) (D) Tt — AER (Cm)

Unit of surface charge density s -

(\) Coulomb/metre? n) Newton/metre
(C) Coulomb/Volt (D) -~ Coulomb - metre
2 e Mew g @ o AR + q MY v fran 9R, @ gl 9w QA Preas gen e gaw
feen Brm? Q
K\Q
(A) qxE, S 1174 q
N
€ e N o g
$ :,
Il + q charge is placed inside any spherical surface then total flux coming out -l:rom whole surface
will be -
(A) qxe, , (B) q
£I'l
(€) E, o g
q Eq
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b 4l0pc € - 10pc ™ ) R omm amp A G 40 em 1) g w v 8 Bom oy dmy
fefya sat el -
(A) 2280 By~ 235)
(€) -2.258) (D) -2.35)
Two point charges of + 10 pc and - 10 pic are placed at a distance 40 cm in air. Potential energy of
the system will be -
A)  225) Wy 238)
(©) -2.25) (D) -235]
4 g Ryn A Fefa Rufy % Rga o &1 zies e @ -
(A) ) peono ® 1 p
amg, U Ly
© L »r
%, T
The electric potential in equatorial position of an electric dipole is -
(A) |_peosO \\QQ (B) P
ix, &6 =, 1
(© P Q\Q% ®)  Zero
w1 @$
5. afy 100 v 7% mfim SR @ wala A wfta Sat 1) 8, @ dofita A afta @ef -
(A 2xI10'F iB) © 2xI0*F
(€  2x10°F M  2x10°F
The stored energy, of a capacitor charged to 100 V, is 1 J. Capacitance of the capacitor is -
(A)  2x10'F Br 2x10°F
€  2x10°F ' D)  2x10°F
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(€) g )RR g

Al constant potential difference, the resistance of any clectric circuit is halved, the value of heat
produced will be -

(A) hall (B) double
(C) four times (D) ame
T GOW mn40W B 2 7 afk dofm 3 G ot M oA aff wfky @ -
‘(.\; 100w 1)) 2400 W ‘
(C) 0w y{ W

When two bulbs of power 60 W and 40 W are connected in serics, then the power of their

combination will be -

(¢ W Q%Q (D) YW
% -
)/ R - ofer ) ma\
(A\) VR @ (B) VLR
© Vv ' M) V'R
R

Power of an electne - circuit is -

(A) V.R (B) ViR
©) M V'R
R
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9, e e a A e B -
) T ) ™
(C)  ano sfta iy

The resistance of ideal ammeter is -
(A)  Zero (B)  verysmall
(C) very large ) infinute
10 ©x a7 A | A e b G T B A e s 16 10'°C 0 o 9 a2 Mo
umfee gAgtn B wom B -
(A) 0625~ 10V By 625x10"
() 1.6210'" m  16x10"

The current flowing in a wire is | A. If the charge of an electron is 1. 6 x 10 "°C, then the number of
clectrops flowing through the wire per second is -

(A) 0625 x 10" dB1 . 625x10"

- T 17
(C) 16x10 \\Q@ ) 16x10
Mm‘mzm ﬁﬂm@;wmmam-mmwm—m =
CiC I AG AR Q\ *
JA) z‘=.".ixﬁ§$ B)  3=B«M
© M D t.MB

H

The torque (T) experienced by a current - loop of magnetic moment (ﬁ) placed in magnetic ficld

Bis-
(A) f:.ﬁxi (B) {:Exﬁ
(C) ) gi (D) =M B
==
B
[117] A Page 5 of 16

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

e
.,12. Wn w iﬂ ‘ij‘?l g _
(X) e (B) Q|
© 3 D)  yaam 4 R PR

The susceptibility of paramagnetic substance is -

(A) Constamt (B) Zero

(C)  Infinity - (D)  Depends on magnetic ficld
N s 3 onl o R saRa @ -

(A) 4R @ FE R R By Rga-gaE o W

(€) R& fara ® M R A w

The working of dynamo is based on the principle of -

(A) Heating cffect of current (B) Electro ~ magnetic induction
(0) Induced magnetism (D) Induced ¢lectricity
34 R el TR @ s T e A Ny R Ny R & A -
(A)  Ni>N: ). . N2>N,
() Ni=N: ' (D) Ni=

In a step - up transformer, n@lums in primary and secondary coils arc Ny and N, then -

(A) Nl >Na 5@ (B)  N:>Nj
(C) 1=N2 ‘Z}' (D) N =0
Jé/ L-R trﬁw @ IS Bl & —
(A)  R+V 178 R p
| JR?+W? 12
©  RYR*+W2L? - O WL
R
The power factor of L - R circuit is -
(A) R+WL () R
’RZ +w2 L!
© grJRZ+WID? (D) WL
R
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16, wamad ur afe A A uRe | o A & & waia? o B, O Ul m A€ TTH A -

}A{ [ cos @ (B) | lll-l'l?
(€) 1sind D) leov'd

In an altemating current circuit, the phase difference between current | and voltage is 0. then the
Wattless component of current will be -

(A) lcos @ (B) ltan ¢
(C)  lsin¢ (D) lcos* ¢
Q7. qemadl un & wiga ma wm R e wm s 8 -
(A) NE & 0
2
(C) 1 (D) 2‘5
p

The ratio of root mean square (ms) value and peak value of an aliemating current is -

M\ 2 B 1
V2
(©) L | g\@@ D 22
U8 gt @ wnﬂmh&&ufaﬁﬂﬂgmqh‘sﬂmaﬁmnﬁ A -
(A ne BHQQ B1 e By
(C) o= By (D) o o 1
Bll

In carth's magnetic ficld By, if the frequency of oscillation of a magnetic needle is n, then -

(A\)  ne«By (B) n«xBy
(C) n e By (D) o o L
B,
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A% g g N @ a¢ ve-a\e i e g ® -
A e (m as
) o w0

The value of angle of dip at the canth's magnetic pole 1s -

(A) 0° (n 45°
O w s
A e - qadh g @ wer A R e @ -
' (A) TG R ILI n) @ IR
€ Bxi » aner N fxp @ IR

The direction of propagation of clectromagnetic wave is -

(A) Parallel to 13 (n) Parallel o E
() Parallel to Bx (D) aratiel to Ex 1§
2L g SO A (= LS) WY GRN (n = 1.33) 0 g e &, oa N @mer w8 -
(A) A da W e W ywmd R A R
(€) A A iR . M aad T @ RE
$
N
A convex lens (n = I%& mmersediin water (n = 1.33), then it will behave as o -
(A) Convergigishons (B) Diverging lens
(€ Prismd ()  Concave mirror
2. Frafafia & Res Jusdais wwa sfs B 82
(A) T B g
(C) am {_Dl/ &
Which onc of the following has maximum refractive index?
(A) glass (B) water
(C) iron (D) - diamond
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»)‘I"" 2 qa Qe - 15D w4 5D g ay wfdhy g R 9 TG R <

o -
(A -20¢m B - 10em
()  +10m (D) +20cm

Equivalent focal length of two lenses in contact having power - 15 D and + $ D will be -

(\) -20cm . B) - 10¢cm
() +10cm M +20cm
24, g T & Ryg andla s B A e o @ -
B “foxf,
W ll’_ (B) xf,
{Cl _.I" .(.D] "fo"‘rc
f,

The magnitying power of an astronomical telescope for normal adjustment is -

YR A ®  -fxf
5 \\QQ
&6
(© f, 20 D) -l+fe
T N
f @Q |
\)a/mﬁnm%mﬁmmﬁ.m$wﬂﬂﬂqmﬁmmmmﬁ-
(A Pz —glitem @ & - gfem
@ R D) oW - FRem

Cylindrical lenses are used to correct the cye defect called -

(A)  myopia (B) hypermetropia
(C) ':nlignmlism (D)  presbyopia
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6. Ty @ I W wRer & -
(A g amhy (B)  grw A
/
(C) g adl W s

Light owes its colour 1o its -

(A) froquency () velocity
() phase (D) amplitude
27, o SumdnE i A R @ AR vad R o =prm Rues @ om § -
(A) (1-mA JB( n-DA
(C) (+DA ' (D) (1+n)A?

Deviation of a thin prism of refractive index n and angle of prism A is -

(A) (1-mMA (B) (n-DA
(C) (+DA D)  Ar+mA?
2. s fagea Wi A ORAA 0 W @ 8-
(A ERR (B IR
(C) o (D) JAER
"~
The wave front due mﬁ%nl source at a finite distance from the source is -
(A) Sphcris%@\ (B) Cylindrical
(C) Plane D) Circular
29. {4 @y & WogA gar & -
(A wm | @) ow R
(C) &I @ a1 Waew (D) Tl 9f B REgn
The solar spectrum is -
(A) Continuous (B) Line spectrum
(C) Spectrum of black lines (D) Spectrum of black bands
[117]A Page 100f 18

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

A0 ) o ad ey N o ad e -

(A) WA B he
A

© M v A
© he

The encrgy of a photon of wavelength A s -

(A) he A n) E
A

) h o A

> © he

o Pt T @ R A3 e el @ Tl A ERfE gREm A SRh g & T FE

g -
(A) ¥ I ® -y
(C) w3 & d D - ywm FAaae

The time in which radioactive substance becomes half of its initial amount is called -

(A)  average life \\Q\Q B)  hall -life

(C) time = penod %&2’6 (D) decay constant
ﬁ/;m @A whrgé&&\?fhﬂre g -

(A)  Tm &I (B) TR

(€)  wmfafifa e &) D) YR aame

With the increase of temperature the resistivity of semiconductor -

(A) increases, (B) decreases,
(C) remains constant. (D) becomes zero.
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W

NAND #7 @ gfvm otar B
(A) YaAsH m Y=AD
€ y=ATE W YeRD

The Boodean expression for NAND gate iy -

(A) Y=A+D (tm YaAB

€©) yeAel M YeAB

srgm sfiAwm 4 PGy s am e -

(A)  om T B o # &)
() | mn o & Smy (D) 08 A T AR

The medulation index in amplitude modulation -

(A)  ivalways zero (B) lies between (and |
() lies between | and (D)  Canncserexceed 05
S _
38w & Rl wm o dr v A durd 245 m &) Rl afrem g0 a @ o
&1 GHRY GEam, @‘Z};
N
(A 245md ()  245km
.!_(:‘J’ $6 km (D) 112 km
The height of TV tower at a certain place is 245 m. The maximum distance up to which its
Programinie can be received is -
(A 245m (m 245 km
() S6 km (D) 12 km
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WS -4/ SECTION-B
R-aw IS 7¥ /Non - Objective Type Questions

I8 W9 / Short Answer Type Questions

mmr#faay-:frrﬂamﬁwroWﬁmna’;ﬂﬁ‘i‘d‘Fﬂ*m?‘Wﬁ”fﬁ”
2 (tox2=20)

(10x2=20)

carries

2 marks.
¢ R gdaw @ ufdafa g S @ 3 (2)
Define electric Nux. Wnte ats STumit,
2 R - & 2 @ aiR fha @ dra w e w) (2)
Establish the relationship between electric field intensity and elegtric potential.
N af g af @ @ wRa AehEn § o 9 @ @ e e afw euF & ()

SR T AT TR B R &9 8 S o, ) S afted o frard |
The equivalent capacitance of t\&@uu] -.:apucimrx connected in :scrics combination is 6uF.
If these three capacitors ag@&ncclcd in parallel, find out cquivalent capacity of the
combination. @QQ\ ‘
4 3 4@ A A Q1 uRRN WEER A A 98 &1 § 9w Fon @ qRum @ g (2)
|
Two resistors of resistance ratio 3: 4 are connected in parallel. Compare the magnitude of heat
produced in them -
_&7 @R ad &2 Q)

What is Lorentz force?
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6. VT om R gavd ) unn @
What i« shunt® Wnte ils two uses
T/ R - yaam o 1 &3 @ A Swl o dem @ g @ oaraa o wwo @1 §EA (2)

Qh"‘“ l]l? |

Lenz’s law of electromagnetic induction follows the principle of conservation of energy.

Dhscuss e,
8. = wn muw @ AR A Y e wnfde w3 | (2)
%
Establish the relation between mean value and peak value of AC.
Y vt aw e A vfder @@ efmen 7w 82 (b]]

What are reactance and impedance in alternating current circuit?

107 P - i o & @ o ) ol @
Wnie down two properties of c@ﬁm'lgncuc wiive. |

ll.dmaﬁﬂmaﬁ@mﬂmumuﬁmmﬂw TRAW (2
Maﬁqﬁmﬁ?nﬁzmwgmﬁmﬁm{aﬁml

Two thin convexlens of power +5 and +4 diopter are placed co - axially at a distance 10 cm.

Find the focal length of the combination.
13 o R Rt geww A shw e w1 @

Differentiate between primary and sccondary rainbow,
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I\ Grany @ diEd @) 8 A an aRla e (]
Descnibe the two shietcomings of Bohr model of atom.

4. v W3 e wart @ em - P 52x 10 ufy ot 81 gy saf - w7 @m erl? (2)
The decay constant of a radioactive substance is $.2x 10 ) pet year, Determine its hall - Jife
Js./oanm,wnﬂzaﬂmmm“mﬁmmfam 2

White truth table and Boolean expression of OR and AND gate.

16. A e w Aga v3w A afem 24 2
Define flux of clectric field on a surface.

17. wmam A ¥ gEm # 3 v & aun Arm B A gwm @ Ay 81 ARk AR A 3 @

HTREATE pa R0 mmnwmm&mﬁmqﬁmm?
"~
Velocity of light in mnliu@s v and velocity of light in medium B is 2v. If refractive index

&
o ium B i ill be value of 27
of medium A is |@l refractive index of medium B is pa, then what will be value of C2

I8, gon Fw A 9 GRA A B A 0@ et o 3) 4R g A SR e w @)
@ A R @m wofiy
In a vertically upwards magactic ficld B, a positively charged panicle is projected horizontally

castwands. What will be the direction of force on the particle?
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’;lt"

22,

yq’%:mﬂmﬁa\mﬁmmammﬁl

W yadim TF/ Long Answer Type Questions
T w19 AN 0E O omdy g 81 59 O @ omdE g B AV 5 VB

Puifer &) 541 3 vF) ® T 2 (es=15)
Quertion Nos. 19 to 24 are long Answer Type Questions. Each question carries S marks.
Answer any 3 questions. (InS=lS)

Rrn ~ fya 7o & Qg (Bye @ arw A g « Agda - M @ aren 9T (S)
*Y)

What is clectnic dipole? Find an espression for chectiic potential at any point due to an electric
dipule.

Rz & Pawl o) {5 ma a7ad) @ Al 97 uan ar @evdra A & wgaa @ (5)
TR YT TR

State and explain KirchhofT s laws. Applying this law, abtain the halanced condition of
Wheatstone bridge.

meu‘zmlwuﬁﬂnﬁﬁ)myﬂamh
Descnibe the prnciple. constnxction and working of 3 transformer.

@ 3w (13 gr wndm qeeds. A menga A o avit ) sk Sud amla — e (8)
L c i '

()

With neat diagram descrite the construction and working of an astronomical telescope and
find sts magmifying fower.

m-memmammﬁmmm-&mmmmm*m (S)
aE w B DA |

What is dispensive power” Find the necessary conditions for obtaining deviation without
dispersion by two thin prisms.

L))
Explain with the help of a labelled diagram the working of a transistor a8 an oscillator.

[117] A Page 16 of 16

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

